k) - (o ~ - sinlt
%L\‘) Y=o, 3 Cos () > Y G, Coslt) — sin(H)
2 cos (£) 2sint)

%(A v s ¢ Cos (38) + 2ein (3t) )656 ) («’N”[éﬁ"J@S(St) o
I - COSC‘?TL) + (o 25/n (3¢
g
‘MX \

w )
cos(2t) ot ¢ o St
o) X = G (o:s(u\ + ) >e 4+ (g oin (1) — 7 eos(24) e

Plug in 16 o g8 ¢, = -2

C'L';S




Sechn 83
Secher

2) K = c,(s\)egt»r c,_{(?)te%+(2,)egi+ (_@

] T G R L A 413
9 ne e (Tl e () e

Los (4t) )
(av X = ¢, §cos(eh) \ . Tsiny) o 9,
cog () ~2sin () 2ws(e)F oalwy) T (—2/5) Cos() +( \/3)““1‘
{
), - C\< ¢ C.z(a)@’t

AV (voﬁ)

Ot

Y (os(2r) S0 ()

_ —sin(zD ) 2 Cos(2t) \ 2t
, ’f ) XC. = C, ( Z(,og(z-\) ) e 4 (2 23.‘(\(?/*336
X? = Vg <in () os(ut) ~ ¥ Cos () Cosam> eu—
Q ~Yy 5 in (2D cos (4t)

)ZAf

6) Y, = Cl(ﬂ ¢~ %G




1(!\) )( = G (%)C’% + C;‘,‘< :\Q/a/

- ec(h) & sint) \ o in () n
5) x,c.(c )e vea ( se

o) — syal




